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Problem 1

Suppose that we know that A−1 =

[
1 3
2 5

]
. Solve the matrix equation AX = B to find x and y where

X =

[
x
y

]
, and B =

[
1
3

]
.

Problem 2

Suppose we are given A−1 =

1 4 0
2 3 0
4 2 2

. Solve the matrix equation AX = B to find x, y and z where

X =

xy
z

 , and B =

−1
2
3

.
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Problem 3

Show that a square matrix with a zero row is not invertible.

Problem 4

Let A = diag(a1, a2, ..., an). Show that A is invertible if and only if each ai 6= 0.

Problem 5

Let A =

[
1 2 −3
2 0 −1

]
and B =

3 2
1 −1
0 2

. Find (AB)T .


